
Questions are drawn from OpenStax Intermediate Algebra 2e on January 10, 2023.  Access for free at  
https://openstax.org/books/intermediate-algebra-2e/pages/preface 

Coin Word Problems 

Pennies are worth $0.01, nickels $0.05, dimes $0.1, and quarters $0.25. 

1. Michaela has $2.05 in dimes and nickels in her change purse. She has seven more dimes than 
nickels. How many coins of each type does she have? 

2. Liliana has $2.10 in nickels and quarters in her backpack. She has 12 more nickels than quarters. 
How many coins of each type does she have? 

3. In a cash drawer there is $125 in $5 and $10 bills. The number of $10 bills is twice the number of 
$5 bills. How many of each type of bill is in the drawer? 

4. Sumanta has $175 in $5 and $10 bills in his drawer. The number of $5 bills is three times the 
number of $10 bills. How many of each are in the drawer? 

5. Chi has $11.30 in dimes and quarters. The number of dimes is three more than three times the 
number of quarters. How many of each are there? 

6. Alison has $9.70 in dimes and quarters. The number of quarters is eight more than four times 
the number of dimes. How many of each coin does she have? 

7. Mukul has $3.75 in quarters, dimes, and nickels in his pocket. He has five more dimes than 
quarters and nine more nickels than quarters. How many of each coin are in his pocket? 

8. Vina has $4.70 in quarters, dimes, and nickels in her purse. She has eight more dimes than 
quarters and six more nickels than quarters. How many of each coin are in her purse? 

9. Paulette has $140 in $5 and $10 bills. The number of $10 bills is one less than twice the number 
of $5 bills. How many of each does she have? 

10. Lenny has $3.69 in pennies, dimes, and quarters. The number of pennies is three more than the 
number of dimes. The number of quarters is twice the number of dimes. How many of each coin 
does he have? 

11. Hilda has $210 worth of $10 and $12 stock shares. The number of $10 shares is five more than 
twice the number of $12 shares. How many of each type of share does she have? 

12. Mario invested $475 in $45 and $25 stock shares. The number of $25 shares was five less than 
three times the number of $45 shares. How many of each type of share did he buy?  
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Key 

1. 9 nickels and 16 dimes 
2. 17 nickels and 5 quarters 
3. 5 $5 bills and 10 $10 bills 
4. 21 $5 bills and 7 $10 bills 
5. 63 dimes and 20 quarters 
6. 7 dimes and 36 quarters 
7. 16 nickels, 12 dimes, and 7 quarters 
8. 15 nickels, 17 dimes, and 9 quarters 
9. 6 $5 bills and 11 $10 bills 
10. 9 pennies, 6 dimes, and 12 quarters 
11. 15 $10 shares and 5 $12 shares 
12. 10 $25 shares and 5 $45 shares 

 

 


